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. OMNET++
@

‘ [ECUCNABA UBAHOBA




KOHO®OUTYPUPAHE HA 3AJJAHUETO

o n-radix_switch.ini

[% Credit_m.cc
[ Credit_m.h
[ Flit_m.cc
[ Flit_m.h

[ channels.ned 22

[ Credit.msg 32

[ Fiit.msg 31
- B Host.ned 59
“[B} k-ary_n-mesh.ini 23
- [BY k-ary_n-mesh.ned 21
53 lat.tet
[ Makefile o5

n_radix_switch.ned &7

|54 n-ary_k-mesh.sh 95
(¥} n-radi_switch.ini 29
|54 n-radix_switch.sh 95

5 n_radix_switch.exe - [x85/1e]

File Edit Source Mavigate Search Project Run SWVM  Window Help
M@ B % 0-Q | # ® 9000 v &Y« B Y - F - Se- o I% @ U
[ Project Explorer 5% = O|[[é Hoster | [6] Hosth | [6] RoutngAlgorithm.cc | [6] SourceTag.ce | [¥] kary_n-meshini | 5 kary_nmeshned | 59 n_radix_switthned | B Uniform.anf W
& v [General]
[13 Uniform-5.sca -~
[13 Uniform-6.sca
[L3 Uniform-7.sca
L3 uniform-8.sca
1L uniform-9.sca
By = Switch 84

==.scalar-recording = true
ocutput-scalar-file = §{resultdir}/${configname}-${runnumber}.sca
cmdenv-interactive = false
cmdenv-express-mode = true

network = n_radix_switch

fies t

N “'Bpoit no

switch

pTO

.switch[*].*.BufferLength = 18

.switchi*] "SourceTag”

*.RoutingAlgorithm =

- [B} omnetpp.ini 20
package.ned 1
5 sim.bat 53 o~
= I 1]
= Properties 2 =8
= -

Property

*.nost[~) .PacketSize = 8

ronemMruHa Ha nakeTta

i *.nost[*].TrafficPattern = "Uniform™

form 0 to 100%

(${10..100 step 10})

specifies offered

.host[*].PacketRate

load

L

Flit size
.host[*].FlitSize

Py

i o
w # Smironlack = 8

Form | Source
ﬂﬂ Prablems fE Console f& Search fi

MED Parameters 2 299 output vEcmr] Uy Dataseq

|section [General], all parameters




& Simulation - n_radix_switch/src/n-radix_switch.ini - OMNeT « + IDE

Run Configurato

) latency.xis Debug As 2 o
@,1 latency-1.csv Debug Configurations. .. ==
B3 Uniform-0.sca |
3 St ath @, External Tocls »
33 Uniform-2.5ca 3 = T T
n Uriform-3S.5¢a cuTtput-scalar-file = §iresultdir}/S{confignane}-S{runnumber}. .sca
13 Uniform-4,sca
B3 Uniform-S.sca cmdenv-interacrive = false
23 Uniform-6.5ca cadenv-express-mode = true
b3 Unform-7.5ca
n Uniform-8.5ca network = n_xradix_switch
L3 Uniform-9.sca o S > =
& @y > Switch 54 d als umber of rec
@ [§ Credt_m.cc
@ (B Credt_mh
#® [ Fi_m.cc
@ B M mh i ~.swicchi*].*.Bufferlength = 1€
® 35 n_rada_switch.exe - [x85e) .
3 channels.ned 52 X
B Credit.msg 32 *.switch[*] .".Routingilgorithm = "SourceTag"”
i Fit.msg 31 " ; P L o % = R
Host.rmed 59 Cofal numper 0L pPacKkers sant Dy =ach aosc
gkw i 93 ) *.host[*] .PacketaTloSend = 1000
< 3
— - - # packet s33e (in flits)
| [ Properties 52 . O Outine | =d=] ~.hosc(*].FacketSize = 3
‘ 3 i -
J p = |
“ 7
{n radix_switch/sr...-radix smtchlnl‘ *.host[*] .TrafficPattera = “Uniform"
! Rm fo S ¢ spacifies offayred load foxm 0 o 100%
‘ ] 8 : Eal = .hosc(*].PackectRate = (${10,..100 scep 10})
edt true A TR o 2
last 20 mapy 2011... UIARE SANE &N St
ke faise i ~.nosc[*].FlicSize = 16
oca C:\ oo * mrrirmanltel ® CuirarClant = 9 me
nam n-radoc_switch.in = s ~
path jn_radix_swalc... = “_ - - - = -




SAITABAHE HA U3ITBJIHEHUETO HA
CUMVJIALIUATA

B Run Configurations

Create, manage, and run configurations

Allows running and debugging an OMNET ++ simulation @

—+l

CEX B -

Mame: | Unifarm |

E Main - g Environrnenﬂ 3*&‘« Debuggerw E'y Souroe) B Commorﬂ

-l | C/C++ Application
Elcic me Working directory

- Launch Group
BE OMMeT ++ Simulation | fn_radix_switch/fsrc | [ Browse... ]
: Uniform

Simulation
Executable: (CJopp_run (3) Other: |,.’n_radix_swihm,’src,’n_radix_swibd'l |[ Browse... ]

Ini file(s): |n-radix_swibj1.ini |[ Browsze... ]
Confignam [Unifom ) pasnpeneneHue —,

Run number: | Processes to run in paralld: '

Options C BM3yanH3aL||MF|
User interface: ODE?’EUI@T\and Ilr. e pOVl Ha

Record Eventlog: () Def+ v i EQHDBPEMEHMTE
Debug on error: @DehwananEHme Ges cumynayun
Mare =5 B13yannaayna

[ Apply H Revert ]

Filter matched 4 of 5items

@ I, Run J [ Close ]




CTAPTUPAHE U PE3VJITATU

B Simulatio

switch/src/n-radi

MNeT =+ IDE
SVM  Window Help

EIC e BRI S S = RN T =

(L4

B - 5 - 2o o~ I

@ Host.cc

(@ Host.h

(@ RoutingAlgorithm. cc

r@ SourceTag.cc (m k-ary_n-mesh.ini r k-ary_n-mesh.ned

r n_radix_s

File Edit Source Mavigate Search Project Run

i @ B <R > IR * N

I?_ﬁPrchctExplorer fxc = O
=

|

E-Eh = results 77

@;1 latency.xls

3 Uniform-0.sca
s Uniform-1.sca
Uniform-2.sca
Uniform-3.sca
Uniform-4.sca
Uniform-5.sca
Uniform-6.sca
Uniform-7.sca
Uniform-8.sca
Uniform-2.sca
itch 54
Credit_m.cc
Credit_m.h
Flit_m.cc
Flit_m.h
ﬁ- n_radix_switch.exe - [x86/1e]
----- E3 channels.ned 22
-l credit.msg 32
----- [ Flit.msg 31
B3 Host.ned 52
----- Eﬂ k—ary_n—mesh.]ini =k
]

nnnnnm
HHEEYE
il

[ ]}
>

5= Outline] = B8
EE SN

Value i

£

= Properties 3

Property

[General]

*=* scalar—-recording
output—-scalar—file

cmdenv—-interactive =
cmdenv—exnress—mode

n_raqlx SwiTcn

# total number of packets

Jhast([*] .PacketsToSend

# packet size (in flits)

* host[*] .PacketSize = &

* . host[*] .TrafficPattern

# specifies offersd load
= .host[*] . PacketRate = (£
# Flit size {in bits)
*.host[*] .FlitSize = 16

H mmri e R R Seed e el

troe
Z{resultdir}/2{configname}—-2{runnumber} . sca

false
troe

pesynTaTu (ckanapHw chalinoee)

.switch([*] .*.BufferLength =

.switch[¥*].*.Routingilgorithm

form 0 to

1&

"SourceTag™

s=nt

1000

"Uniform™

100%

{£10..100 step 10})

-~ Seamﬂ 293 putput Vecmq & Dataset?l

inated = Uniform [OMMeT++ Simulation] srcfn_radix_switch. ex

—4-4 7:32 - run #0)

'hclsc[e] total_ latency: 0.00015818473
host[5] total_packets_sent: 1000
nhost[5] total_packets_receiwved: 1022
ho=st[5] total latency: 0.000160108345
host[6] tntal:packetsisent: 1000 M3NbBNHEHWNA Ha
otal_ packets_receiwved: 293

.
=t[6] ©
hos total latency:

KoOH30naTa
0.000155996077




CTAPTUPAHE B TPAOMYHA CPEJIA

3 ol ! = o[la]sp

(2 8

Sun HO: n_radix_switch \ r E~ent H1 T=0
Aegs scheduled: 16 Mzas created: 32
Ewdzec: nda CTapTM paH e Ha Simzec/zec: nda
15 credits.... ik cyYynynaumnaTa
REEE seghe  CyTyna
+1E3 *Ae=E AT ER TR 4

[@8] n_radix_switch [n_re ” Llniflorm':JGelE:leslinalinn r;|=‘| - k=8

B zcheduled-events (o

ey

£ B 3B [E] o

. [n_radi<_switch] n_radi=z_switch [id=1] [ptr0SA05070)

r_radix_switch

L]

host[5]

&=

hast[]

host[2] hoatE]

b bAT

=clouble click

|

-]

Irubiahzing module n_radis_swibch. sweabch)
Initializing module n_radi=_ switch. switch
Initializing module n_radiz_switch. switch
Initializing module n_radis_switch, switch
Initializirg module n_radi=_switch. switch
Initializing module n_radi=s_switch. switch
Initializing module n_radis_switch, switch
Initializirg module n_radis_switch. switch
Initializing module n_radis_switch, switch
Initializing module n_radi=_ switch. switch
Initializing module n_radiz_switch. switch
Initializing module n_radis_switch, switch
Initializirg module n_radi=_switch. switch
Initializing module n_radi=s_switch. switch
Initializing module n_radis_switch, switch
Initializirg module n_radis_switch. switch
Initializing module n_radis_switch, switch
Initializing module n_radi=_ switch. switch
Initializing module n_radiz_switch. switch
Initializing module n_radis_switch, switch
Initializirg module n_radi=_switch. switch
Lnitializic roodile ne cadiv swaibe-b swibeb

o o e e e e e e e e e e e o o

.reg[l]. stage U
.reg[1]. stage O
.reg[2]. stage O
.reg[3]. stage O
.reg[4]. stage O
.reg[5]. stage O
.reg[E]. stage O
.reg[F]. stage O
. buffer[0]. stage O
. buffer[1]. stage O
. buffer[2]. stage O
. buffer[3]. stage O
. buffer[4]. stage O
. buffer[5]. stage O
. buffer[E]. stage O
. buffer[F]. stage O
=[], stage O
. mux=[1], stage O
. ru=[2]. stage O
. ru=[3]. stage O
. mue=[4]. stage O

reaeel 51 stame 101

ir_ctl[¥]

buffer[7]

= |

1=
Lt | port[7]

o




N3BJINYAHE HA CTATUCTUKHU

switch/src/Uniform.anf - OMNeT++ IDE

File Edit MNavigate Search Project Run

il - 0- G

lord

[ Project Explorer 52
Eh=
=-EF =srcs3
(Z% Host

=&y > results 77
B latency.xds

Uniform-6.sca

Uniform-7.sca

Uniform-8.sca

Uniform-g.sca

Eh > Switch 84

3 Credit_m.cc
Credit_m.h

Flit_m.cc

Flit_m.h

5 n_radix_switch.exe - [xa6/l]

3 chanmels.ned 22

[ Credit.msg 22

[ Flit.msg 21

[ Host.ned a3

[K) k-ary_n-mesh.ini 23

3 kary_n-mesh.ned 21

|

PRIEE

< £
B= outline =
o (]2

Value

E Properties 52

Property

SYN  Window Help
sl
5 || [€] Host.cc

Browse Data

[€ Host.h

|

=you can see 3

[€] RoutingAlgarithm.cc

come from the files S

[ELARER1S ; e

[€] SourceTag.cc

All (0 f0) || vectors (0 / O] Scalars (25200 / Zﬁmn’)ﬁpaay ATaTH

I S——

[¥] k-ary_n-mesh.ini

f=Tab cbec CKanapHuTe

k-ary_n-mesh.ned

< ®

n_radix_switch.ned

E& Uniform.anf 22

=T

[¥] n-radix_switch.ini

g | e ~ H statistic name filter

Folder File name Config name Module Mame Value
Jn_radix_switch/srofresults/ Uniform-1. Urniform 1 -20110404-06:21:02-3768 n_radix_switch.host[66] Throughputimax 0.0
i s ey irsiForm~1 T 1 niradix switch hosH66] et
In_radix_switch/src/results/ Uniform-1. Uniform 1 n_radix_switch.host[66] Throughput:sgr... 0.0
In_radix_switch/srcfresults/ Uniform-1. Uniform 1 n_radix_switch host[66] Throughput:sum 0.0
e et fe gy iriForm 1. Usifeorm 1 niradic switch hosH66] Throughputsstd... MNaN
In_radix_switch/srcfresults/ Uniform-1. Uniform 1 n_radix_switch host[66] Throughput:mean 0.0
In_radix_switch/src/results/ Uniform-1. Uniform 1 n_radix_switch.host[66] Throughput:count 0.0
fn_radix_switch/srcfresults/ Uniform-1.sca Uriform 1 n_radix_switch.host[66] Latency:max 3.89758E7
Jn_radix_switch/srcfresults/ Uniform-1. Uriform 1 n_radix_switch.host[66] Latency:min 1.506E-7
fn_radix_switch/srcfresults/ Uniform-1. Uriform 1 n_radisc_switch.host[&8] Latency:sarsum  2.5486880476679E-11

“ 1| radix_switch/srefresults/ Uniform-1.sca Uriform 1 n_radix_switch.host[s8] Latency:sum 1.55065885E-4
Jn_radix_switch/srcfresults/ Uniform-1. Uniform 1 n_radix_switch.host[66] Latency:stddev  3.4033006865789E-8
Jn_radix_switch/src/results/ Uniform-1. Uniform 1 n_radix_switch.host[s6] Latency:mean 1.5374433474129E 7
Jn_radix_switch/srofresults/ Uniform-1. Uniform 1 n_radix_switch.host[66] Latency:count 547.0
i s ey irsiForm~1 T 1 niradix switch hosH65] Srrriroeme 00
In_radix_switch/src/results/ Uniform-1. Uniform 1 n_radix_switch.host[65] Throughput:min 0.0
In_radix_switch/srcfresults/ Uniform-1. Uniform 1 n_radix_switch.host[65] Throughput'sar... 0.0
e et fe gy iriForm 1. Usifeorm 1 niradic switch hosH65] Shroaesr 00
In_radix_switch/srcfresults/ Uniform-1. Uniform 1 n_radix_switch host[65] Throughput:std... MNaN
In_radix_switch/src/results/ Uniform-1. Uniform 1 n_radix_switch.host[6a] Throughputstd... MNaM
In_radix_switch/src/results/ Uniform-1. Uniform 1 n_radix_switch.host[68] Throughput:mean 0.0
Jn_radix_switch/srcfresults/ Uniform-1.sca Uriform 1 n_radix_switch.host[63] Throughput:count 0.0
e et P ey NirsiFoorm 1. Aisifeorm 1 niradic switch hosH63] e 3.77597E-7

~ || | fn_radix_switch/srcfresuits/ Uniform-1.sca Uriform 1 n_radix_switch.host[63] Latency:min 1.506E-7

||| inZradix_switch/srcjresuits/ Uniform-1.sca Uniform 1 n_radix_switch.host[63] Latency:sarsum  2.7684241000143E-11
Jn_radix_switch/src/results/ Uniform-1.sca Uriform 1 n_radix_switch.host[s8] Latency:sum 1.50834731E-4

5| | /n_radix_switch/ercjresults/ Uniform-1.sca Uniform 1 n_radix_switch.host[58] Latency:stddey  3.5173231186642E-8
fn_radix_switch/srcfresults/ Uniform-1.sca Uriform 1 n_radix_switch.host[63] Latency:mean 1.5462101432958E-7

||| #n_radix_switch/srcfresults/ Uniform-1.sca Uriform 1 n_radix_switch.host[63] Latency:count 577.0
In_radix_switch/srcfresults/ Uniform-1.sca Uniform 1 n_radix_switch.host[67] Throughput:max 0.0
e et fe gy Uniform-1. sci Usifeorm 1 niradic switch hosH67] e
In_radix_switch/srcfresults/ Uniform-1.sca Uniform 1 n_radix_switch host[67] Throughputisqr... 0.0
In_radix_switch/src/results/ Uniform-1.sca Uniform 1 n_radix_switch.host[67] Throughput:sum 0.0
In_radix_switch/src/results/ Uniform-1.sca Uniform 1 n_radix_switch.host[67] Throughputstd... MNaM
In_radix_switch/srcfresults/ Uniform-1.sca Uniform 1 n_radix_switch.host[67] Throughput:mean 0.0
e et P ey Uiniform 1. sc Aisifeorm 1 niradic switch hosH67] i otchoatecomi B0
fn_radix_switch/srefresults/ Uniform-1. Uriform 1 n_radix_switch.host[67] Latency:max 4,32957E7
In_radix_switch/src/results/ Uniform-1. Uniform 1 n_radix_switch.host[67] Latency:min 1.506E-7
Jn_radix_switch/src/results/ Uniform-1.sca Uriform 1 n_radix_switch.host[s7] Latency:sarsum  2.8804991093212E-11
it o] Leatnd con imifinren 3 i1 3011 1040 A-AE- 123755 R radiv etk hactE 71 I = T masimasra

[E Problems Console 2
undisposed
undisposed
undisposed
undisposed

object :
cbject:
cbject:
object :

%" search | %2% NED Parameters | 222 Qutput Vector | “% Dataset
<terminated> Uniform {1) [OMNeT +-+ Simulation] srcjn_radix_switch.exe (1144 7:37 - run #0)

(cHessage)
(cMessage)
(cHessage)
(cMessage)

n_radix switch.host.timer —-—
n_radix_switch.host.timer —-—

check module destructor
check module destructor

n_radix_ switch.switch[0] .buffer.timer —- check module destructor

n radix switch.switck

.buffer.timer ——

check module destructor

® %% | G

=




COPTUPAHE U KOIIUPAHE HA
PE3VJITATUTE

File Edit MNavigate Search Project Run SYN  Window Help

il A= B it-0-Q- i £ -® Gdin v s L ildid-F-woa-d FOAOHEIQXHB| O R D =(e

E\jProJectExplorer o =0 @ Host.cc (@ Host.h (@ RoutingAlgorithm. cc. (@ SourceTag.cc (m k-ary_n-mesh.ini ( k-ary_n-mesh.ned ( n_radix_switch.ned (a Uniform.anf 3 m n-radix_switch.ini 1

-
== Browse Data
B8 »srces -~

Here you can see all data that come from the files specified in the Inputs page.

Ex = results 77 All {0/ 0) || vectors (0 /0) | Scalars (1800 / 25200) | Histograms {0/ 0) | 7~ _\‘ n3boT Ha

B latency. xls y - r K B
. @ﬂ lateney-1.cov | runiD filter vl filter [v || Latency:mean Jl’anT'bp
k3 Uniform-1.sca Falder File name Config name |COTPV|TaHe no Homep Ha je
L3 Uniform-2.sca s Uniform-1.5ca cvnynauvaTta - 3agasa
i Unform S.ecs [Unform o Tunfom 1 Tu it A
[ unifo =R VT B B VL (1P VN OKEHNAT TOBap
z Uniform-4.<ca U = Uniform [ 1 [ UATOMmTo TIORG S A P S
[ Uniform-S.sca [Uniformi.sea  [uniform |1 |
13 uniform-6.5ca
- E} Uniform-7.sca
- E} Uniform-8.sca
E} Uniform-2.sca
B = Switch 84 | U :
[% credit_m.cc Uniform- Latency:mean
-[F credit_m.h uni

|-
o
(&
5[5
El
H
i
5

B

Uniform-1-

Uniform-1-
a ] ™ Unifarm-1-.

Uniform

Flit_m.cc

2 E; Fit_m.h

2 fﬁ n_radix_switch.exe - [x86/1]
B3 channels.ned 52

R Credit.msg 32

El
n |
o |

-

I

c
5
g
El
14

A

Fh

g

El

1
C

[ Flit.msg 31 t:i: ::Ea
B3 Host.ned 52 Latency:mea
Ea k-ary_n-mesh.ini 23 aten
E& k-ary_n-mesh.ned =21 ] e
< I | »
E Properties 52 o= Dutlinew =0 B
=
- | = |-m = - L.?tﬁ:n m”n
= R
B val atencyimean 1.7573725373139E-7
roperty alue n 1 a =)

=
LA
i |a (&
5
El

.83
smeal 1.756553024236E-7
[ [Latency:mean | 1.806616615087E7
=

fn,
in,
in,
i,
i,
i,
i,
i,
fn,
i,
fn,
fn,
i,
i,
fn,
fn,
fn,
fn,
in,
in,
i,
i,
i,
i,
i,
fn,
i,
fn,
fn,
i,
i,
fn,
fn,
fn,
fn,
in,
in,
i,
i,

Inputs [Bruwsa Data ] Datasets |

[2 Problems | & conscle 52 & Seard’q %22 NED Paramebers‘} 499 gutput \c'ecbarw & Damseq x & A | @I @l =4
=<terminated> Uniform {1) [OMNeT ++ Simulation] src/n_radix_switch.exe (11-4-4 7:37 - run #0)

undisposed object: (cMessage) n radix switch.host.timer - check module destructor

undisposed object: (cMessage) n radix switch.host.timer —- check module destructor

undisposed object: (cMessage) n radix switch.switch[O].buffer.timer -- check module destructor

undisposed object: (cMessage) n radix switch.switch[O].buffer.timer -- check module destructor

undisposed object: (cMessage) n radix switch.switch[O].buffer.timer -- check module destructor




E1 Microsoft Excel - n-radi

=5

ITPEXBBPIIAHE B MS EXCEL

File Edit

Wieww Insert

Format

switch.xls

Tools

Data Window Help

RN W= A= NN - TN AN Sl = o2l A 4% 100% - @) W el w0 - | B u
A1 - A& Folder
A | B | C | D | E | = | G H | J [ K [
1 |Folder File name Config nan Run numbs Run id Module Mame Value
2 |/n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency:m 1.68E-07
3 |/n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency:m 1.66E-07
4 )n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency-m 1.67E-07
5 J/n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency-m 1.64E-07
6 |/n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency:m 1.66E-07
7 |/n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency:m 1.65E-07F
8 |/n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency:m 1.65E-07
9 J/n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency:m 1.66E-07
10 }/n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency-m 1.64E-07
11 Jn_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency:m 1.66E-07
12 Vn_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency:m 1.65E-07
13 )n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency:m 1.67E-07F
14 }/n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency:m 1.68E-07
15 |/n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency-m 1.70E-07
16 |/n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency:m 1.67E-07
17 Vn_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency:m 1.68E-07
18 |n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency:m 1.63E-07
19 )n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency:m 1.68E-07
20 )/n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency-m 1.67E-07
21 )/n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency-m 1.66E-07
22 |/n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency:m 1.69E-07
23 |/n_radix_s' Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency:m 1.68E-07
24 |/n_radix_s' Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency:m 1.66E-07
25 |/n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency-m 1.66E-07
26 |/n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency-m 1.65E-07
27 |'n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency:m 1.68E-07
28 |/n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency:m 1.66E-07
29 |/n_radix_s' Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency:m 1.70E-0F
30 }/n_radix_s Uniform-1_: Uniform 1 Uniform-1- n_radix_sv Latency-m 1.64E-07
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